
LetsPlayMaths.com 

Copyright © 2020 LetsPlayMaths.com. All Rights Reserved. 

Decimal Numbers Worksheet – 2 
1.  4 hundredths can be written as _____. 

a) 0.004        b) 0.04 

c) 0.400        d) 400 

2. 
଺

ଵ଴
 + 

ହ

ଵ଴଴଴
 = _____  

a) 65        b) 0.65 

c) 0.605        d) 0.650 

3. 5.008 = 5 + 
଼

?
  

a) 1        b) 10 

c) 100        d) 1000 

4. 
଻ଷ଺ହ଼

ଵ଴଴଴
 = _____ 

a) 73.658        b) 7.3658 

c) 736.58        d) None of these 

5. Which number is greater than 
ଵ

ସ
 ?  

a) 0.205        b) 0.250 

c) 0.150        d) 0.252 

6. 0.705 = 
଻

ଵ଴
 + _____ 

a) 
ହ

ଵ଴଴
        b) 

ହ

ଵ଴଴଴
 

c) 
ହ

ଵ଴
        d) None of these 

7. 
ଽ

ଵ଴଴଴
 + 

଴

ଵ଴଴
 + 

଺

ଵ଴
 + 15 = ________. 

a) 15.906        b) 15.96 

c) 15.096        d) 15.609 

 



LetsPlayMaths.com 

Copyright © 2020 LetsPlayMaths.com. All Rights Reserved. 

8. The face value of 4 in 5.654 is _____.  

a) 
ସ

ଵ଴଴଴
        b) 

ସ

ଵ଴଴
 

c) 4        d)  None of these  

9. Which decimal number is same as 
ସ

ହ
 ? 

a) 0.4        b) 0.8 

c) 0.7        d) 0.6 

10. Ram is 172 cm tall. What is his height in meters? 

a) 172 m        b) 17.2 m 

c) 1.72 m        d) None of these 

11. Place value of a digit increases by _____ times as the digit moves from the right to left place by 
place. 

a) 1        b) 100 

c) 10        d) None of these 

12. Expanded form of 85.369 is ________. 

a) 80 + 5 + 
ଷ

ଵ଴
 + 

଺

ଵ଴଴
 + 

ଽ

ଵ଴଴
   

b) 85 + 
ଷ

ଵ଴
 + 

଺

ଵ଴଴
 + 

ଽ

ଵ଴଴଴
  

c) 80 + 5 + 
ଷ

ଵ଴
 + 

ଽ

ଵ଴଴
 + 

଺

ଵ଴଴
         

d) None of these 

13. Sum of 0.5, 0.05, 0.005 and 0.0005 is ________. 

a) 0.555        b) 0.5055 

c) 0.5555        d) None of these 

14. Sum of 2.8, 15.7 and 27.894 is ________. 

a) 46.943        b) 64.394 

c) 46.934        d) 46.394 

15. Product of 99.999 and 100 is _____. 

a) 99.999        b) 9999.9 
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c) 9.9999        d) 99999 

16. If 2805 ÷ 2.55 = 1100, then 280.5 ÷ 25.5 = ________.   

a) 1.1        b) 1.01 

c) 0.11        d) 11 

17. The smallest possible decimal fraction upto three decimal places is ________. 

a) 0.101        b) 0.111 

c) 0.001        d) 0.011 

18. Product of 4.95 x 0.75 x 0.001 x 0.0 x 3.9 is ________. 
a) 0.495        b) 3.9 

c) 49.5        d) 0 

19. 12.1290 _____ 12.130. 
a) >        b) < 

c) =        d) None of these 

20. The cost of 1-liter milk is Rs. 22.50, then what is the cost of 25.5 liter of milk? 

a) Rs. 573.57       b) Rs. 537.75 

c) Rs. 573.75       d) None of these 


